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CC Algebra 

Unit 7 - Quadratics Review

1. What number should be added to both sides to complete the square on r2 – 5r = 12? 

a. 6.25

b. 25

c. 36

d. 144

2. The expression 
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 can be simplified to 
a.  
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3. What values of a, b, c should be substituted in the quadratic formula to solve         
5x2 + 2 = 3x

a. a = 5, b = -3, c = -2

b. a = 5, b = 3, c = -2

c. a = 5, b = 3, c = 2

d. a = 5, b = -3, c = 2 

4. What does it mean if the value of the discriminant is negative? 

a. The quadratic equation has one real solution

b. The quadratic equation has two real solutions

c. The quadratic equations has no real solutions 

d. There is an error in the calculations 

5. What is the best first step to solve 2x2 = x + 1 by completing the square? 

a. Put the equation in standard form 

b. Divide both sides by 1 
c. Subtract x from both sides 

d. Add 0.25 to both sides 

6. Simplify the radical 
[image: image6.wmf]162

5

-


7. Find the zeros of the equation f(x) = 3x2 – 7x + 3  (Round your answer to the nearest hundredth) 
8. Solve the quadratic equation by completing the square. 


11 = 2x2 + 5x 

9. Solve the quadratic equation using the quadratic formula 5x2 – 3 = x2 + 5x  
10. Solve the quadratic equation using any method.  Tell which method you used and explain why you chose it. 


0 = 3x2 – 4x – 12

11. A toy rocket launched into the air has a height (h feet) at any given time (t seconds) as h = -16t2 + 160t until it hits the ground.  At what time(s) is it at a height of 9 feet above the ground? (Round to the nearest hundredth)
12. Given two consecutive positive even integers, it turns out that the square of the larger minus 10 times the smaller is 76.  Find the two integers
13. A rectangular patio measuring 6 feet by 8 feet is to be increased to an area of 150 square feet.  If both the length and the width is increased by the same amount, what is the number of feet, to the nearest tenth, that the dimensions will be increased? 
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Answer Key 

1) A 

2) A

3) D

4) C

5) C

6) 
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7) x = 0.57, 1.77

8) 
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9) 
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11) 0.06 seconds, 9.94 seconds 

12) Let x = 1st integer 

       x + 2 = 2nd integer 


(x + 2)2 – 10x = 76 

12, 14 

13) (x + 6)(x + 8) = 150 
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